


Basler AG

An der Strusbek 60-62
22926 Ahrensburg
Germany

All material in this publication is subject to change without notice and is
copyright Basler AG.

FHROFHRAEMRIMEEN, BABITEHN, BRI Basler AG FTH.

ANEZDIRTOARABIRFELG LICEEINSGAELHY £, Tz Basler AG
N ZDEFEEBLEY,



TABLE OF CONTENTS

INTRODUCTION ....iiiiiiiiiiinnnennnnnnnns

About this Document . ......................
Important Documentation . ................ ..
Additional Accessories and Software .........

HARDWARE INSTALLATION ............c...t

Overview of the Components ...............
Prerequisites . ... ... .. ... ...
Step 1. Installing the Interface Card ...........
Step 2: Installing the Camera ................
Step 3: Providing Camera Power . ............

ACQUIRING YOUR FIRST IMAGES .............

Prerequisites . ... ... ... ...

Acquiring Images Using the pylon Viewer

SPECIFICATIONS ...ttt iiiaans

Camera Specifications ............ ... .......
Interface Card Specifications ................

TABLE OF CONTENTS

EN



INTRODUCTION
INTRODUCTION

About this Document

This document provides information about how to install a Basler
boost CXP-12 camera and a Basler CXP-12 Interface Card 1C (referred to here
as "interface card").

It also provides step-by-step instructions that help you to connect the
camera and the interface card and acquire your first images.

Note: This document describes the installation of Basler products only,
i.e., Basler boost CXP-12 cameras, Basler CXP-12 interface cards, and
additional accessories needed for operation, such as cables or cooling
elements.

You can, however, use your own frame grablbers and accessories. In this
case, observe the documentation of the corresponding manufacturers
to ensure proper installation.

Important Documentation

Before installing the hardware, Basler strongly advises reading the
precautions and safety instructions of the following documents:

m Basler boost Getting Started Guide (AW001552)
m Basler CXP-12 Interface Card 1C Getting Started Guide (AWO001558)



INTRODUCTION

For information about how to operate the Basler boost CXP-12 camera and
the Basler CXP-12 interface card, refer to the Basler Product Documentation
available at: docs.baslerweb.com

Additional Accessories and Software

Basler offers the following accessories that allow you to quickly get started
with your Basler boost CXP-12 camera:

CoaXPress 2.0 data cable, Micro-BNC x2 (HD-BNC), 5 m
Power-1/O cable M8 6p/open, 5 m
2 heat sinks with 2 mounting screws (M4x12) each

m  C-mount with 4 mounting screws (M2.5x6)

These products can be purchased individually or combined as a set in the
Basler CXP-12 Starter Kit boost. Alternatively, you can purchase the Basler
CXP-12 Evaluation Kit boost, which includes a camera, an interface card,
and all the accessories listed above.

For more information, visit www.baslerweb.com/boost.

The pylon Camera Software Suite (version 6.1 or higher) provides an SDK
for the camera and the interface card. Download the pylon Camera Software
Suite at: www.baslerweb.com/pylon

EN



HARDWARE INSTALLATION
HARDWARE INSTALLATION

Overview of the Components

PCle power
connector (6-pin)

D-Sub Micro-D
connector (15-pin)

q'ﬂ;q icro-
) < @#ﬁjﬁﬂﬂ I q]q %nnegg‘rc
e-nn;ount 4 x M2.5x6 t! 1] fq»,,}
{jiitadtintsy LED
o, SRS
2N P R

Micro-BNC
connector

2 x M4x12

Heat sink 1/0 connector

(M8 6-pin)

Power-1/0
cable

Fig. I: Hardware Installation - Overview of the Components



HARDWARE INSTALLATION

Prerequisites

The host computer must have at least one PCle 3.0 x4 slot available on
the main board.

When using Power over CoaXPress (PoCXP), make sure that the power
supply of your computer provides a female 6-pin PCle power connector.
If none is available, get an appropriate adapter.

If you are not using PoCXP, you need an external power supply.

Make sure that you have a C-mount lens and the accessories listed
under Additional Accessories and Software to hand.

Step 1: Installing the Interface Card

1.

Make sure that the host computer is shut down and unplugged from the
power outlet.

2. Remove the cover of the computer.

Plug the interface card into a free PCle 3.0 x4 slot of the computer.

If you want to power the camera via the interface card (PoCXP), the
interface card needs to be connected to the power supply of the
computer.

Plug the female power supply connector of the computer to the power
connector of the interface card (PCle 6-pin). If your computer doesn’t
provide a matching power supply connector, use an appropriate adapter.

EN



HARDWARE INSTALLATION

Note: If you want to use multiple interface cards in the same computer,
make sure that you have one PCle 3.0 x4 slot per card on the main board
of that computer.

Use an adequate ventilation system within your computer and leave
sufficient free space between your interface card and other cards, if you
use any.

5. Put the case of the computer back together.

Step 2: Installing the Camera
1. Make sure that the camera is disconnected from any power supply.

NOTICE

Contamination Hazard: Dust on the sensor may impair the camera’s
performance.

Make sure that the camera is pointing down during the next installation
steps.

2. Remove the seal from the camera front.

3. Attach the C-mount to the camera using the four mounting screws
(M2.5x6).



HARDWARE INSTALLATION

NOTICE

Damage Hazard: Inserting the lens too far into the camera may damage
the sensor.

When carrying out the next step, make sure not to insert the lens any
deeper than 15 mm.

. Attach a C-mount lens to your camera.

. Provide sufficient heat dissipation, e.g., by attaching two heat sinks to
the camera using the mounting screws (M4x12) provided.

Step 3: Providing Camera Power

Note: The camera can be powered via PoCXP or via the |/O connector
using an external power supply (AUX power).

If you power your camera by both the CoaXPress interface and the
I/O connector, the power provided by the I/O connector is used only.

If you are using PoCXP:

Plug one end of the CoaXPress cable into the Micro-BNC (HD-BNC)
connector of the camera and plug the other end of the CoaXPress cable
into the Micro-BNC connector of the interface card.

EN



HARDWARE INSTALLATION

2. If you are using an external power supply:

a. Plug one end of the CoaXPress cable into the Micro-BNC (HD-BNC)
connector of the camera and plug the other end of the CoaXPress
cable into the Micro-BNC port of the interface card.

b. Connect the plug of the power |/O cable to the M8 6-pin connector
of the camera.

Observe the following pin assignment.

I

24 VDC camera power

1 Opto-coupled I/O input line

Ground for opto-coupled I/O lines
General purpose 1/0 (GPIO) line

3 General purpose I/0 (GPIO) line

Ground for camera power and GPIO lines

-
®@®
(5)@@

I/O connector

of the camera

(M8 6-pin)

|| M W|IN| —
N

c. Connect the open end of the power I/O cable to a power supply.
d. Plug the power supply into a power outlet.
3. Reconnect the computer to the power outlet and boot the computer.

For information about the different LED states and corresponding colors,
refer to the Basler Product Documentation available at:
docs.baslerweb.com



ACQUIRING YOUR FIRST IMAGES

ACQUIRING YOUR FIRST IMAGES

Prerequisites

= You have completed the hardware installation procedure as described in

the Hardware Installation chapter.

m  One of the following operating systems must be installed on the host
computer: Windows 7 or 10 (32 bit or 64 bit) or Linux (64 bit)

= You have installed the pylon Camera Software Suite (version 6.1 or
higher) on the host computer.

Note: When installing the pylon Camera Software Suite, make sure to
select the CXP Camera Support feature. This will install all runtime
software, drivers, and related software tools that are required for
operating a Basler boost CXP-12 camera.

Acquiring Images Using the pylon Viewer
1. Double-click the pylon Viewer icon on the desktop.
The pylon Viewer opens.

2. Double-click your camera’s name in the Devices pane to open the
camera connection.

3. In the menu bar, click Camera > Continuous Shot.

EN



ACQUIRING YOUR FIRST IMAGES

The images captured by the camera are displayed in the image display
area.

For further information about how to optimize the image quality and to
configure your camera, refer to the Basler Product Documentation
available at: docs.baslerweb.com

Note: You can also access the Basler Product Documentation
directly from the various tools of the pylon Camera Software Suite.

In the pylon Viewer, you can get context-sensitive help. If you need
more information about a parameter or want to know more about
your camera model, select the desired item in the Devices or the
Features pane and open the documentation by pressing F1 or right-
clicking and selecting Get Help.



SPECIFICATIONS

Camera Specifications

SPECIFICATIONS

_ boost 9 MP boost 12 MP

Resolution
(HxV pixels)

4096 x 2168 4096 x 3000

Sensor Type

Sony IMX255 Sony IMX253
CMOS, Global Shutter

Optical Size 1 11"
Effective Sensor 161 mm 176 mm
Diagonal

Pixel Size 3.45 x 3,45 um

Frame Rate 93 fps 68 fps

Mono/Color

Mono/Color

Synchronization

Via hardware trigger, via software trigger, or free run

Power
Requirements

Power over CoaXPress or 24 VDC
9.6 W (typical) @ 24 VDC

I/O Lines

1 opto-coupled input line
2 general purpose 1/O (GPIO) lines

Size (LxWxH)

45 mm x 80 mm x 80 mm

Weight

480 g

Conformity

CE (includes RoHS), FCC, UL (in preparation),
GenlCam, CoaXPress 2.0, IP30

EN



SPECIFICATIONS

Interface Card Specifications

_ CXP-12 Interface Card 1C

Host Interface PCle Gen 3 x4
Bandwidth (Typical) 3260 MB/s
On-Board Memory 1GB DDR4-RAM
Camera Interface 1x CXP-12 (Micro-BNC)
Power PCle 6-pin connector 12 V
Requirements (required for POCXP)

3 differential opto-coupled input lines, or two differential
I/O Lines opto-coupled input lines and 1 single-ended opto-coupled
(Differential Mode) input line

2 TTL output lines

I/O Lines (Single- 4 differential opto-coupled input lines
Ended Mode) 2 TTL output lines

PCle low profile card
(68.9 mm x 167.65 mm)

Weight 180 g

Size (LxV)




Bx

B#
T2 16
e b N v - 16
TR 16
EMEREFIEREE 17
B B L ittt ettt e e e e e a e e e, 18
IR 18
B R 19
B REIEOIR 19
F2H REBHL . 20
B3 AMENVEEE 21
b g R [ 23
B Rt 23
B/ pylon Viewer RERIME ... 23
B ittt e 25
113 - 25
BRI 26

ZH



v

RFHXH

AR HEE K o 222 Basler boost CXP-12 #H#1#0 Basler CXP-12 Interface
Card1C (LTFE# “#OF " ) HER.

AN, SRR AT # B AR . O R RESE —KE GRS S,

R A Basler = (Bl Basler boost CXP-12 #H#1. Basler
CXP-12 #OFRIBEFTENEAME 4, FINEAMELETH) WEERITT N

4.

TR UE R B CHEGRERFEG. EXMBELT, 1HEEENGISERR
AR RER T .

BEEXH

FELHFEHZ BT, Basler BIEWE BTSSR TBR 18 eI 2 217 08
m Basler boost Getting Started Guide (AW001552)

m Basler CXP-12 Interface Card 1C Getting Started Guide (AWO0O01558)

B FUMaE A Basler boost CXP-12 fBHL K Basler CXP-12 #O-FEME R, 15SF
docs.baslerweb.com Wi A Basler FEEas#%.



E {4 F0EK 45
Basler IRMAILL TEL 4B B F1EIUR 241 A Basler boost CXP-12 #8#1

CoaXPress 2.0 ##4k, Micro-BNC x2 (HD-BNC), 5m
FEJR 1/O 4% M8 6p/open, 5m

2 NEERGAR, BT 2 DEFEIEE] (M4X12)

CO, &4 PRKIEE] (M2.5x6)

XL EE FET LB ML 56 & 7F Basler CXP-12 Starter Kit boost &G,
B AT PGS Basler CXP-12 Evaluation Kit boost, HEA 64 —3HEH. — &
O EIRFTEE 4.

EXEZER, i5HE www.baslerweb.com/boost.

pylon Camera Software Suite (6.1FRAEE 5) 24 A TN MZE O FHISDK,. &
AT BAiT 18] DL 8542 & pylon Camera Software Suite:
www.baslerweb.com/pylon

ZH



W%
EHRE
RS o AES

PCle HIRIEERR
(6518)

D-Sub Micro-D &

2 (15518)

Micro-BNC
EER

CcOfsk  4xM2.5x6

LED s
HERAT

CoaXPress

HiR%

Micro-BNC
R

B 110 ZE 8
(M8 6 3|H)

2. AR - AUER



Wit zE
RIS
 ENHERESMEDE A AR PCle 3.0 x4 .

FE{E IEE CoaXPress it (POCXP) B, iEMRITEN RIRIZHE & 6 N3]
fIH) PCle EIRE SR, WMRTERM, FTERMEINERR.

WMRIERAEH PoCXP, MFEEINEBER.
BWMEREE T HMEAMSRG T THHA C AR .

£14 . REEOF

1.

5.

WRENC R CMBIREER TEBIREL.

2. HTITENIE.
3.
4. MFEBEEOF (PoCXP) A e, WEERZORSITEN BREE.

REORENTENRER PCle 3.0 x4 fHfE+.

BT EN N EREEEBNEO R (PCle 6 511 ) MIRBEERR. NREMT
ENRARMTENRREES, BERAGENERS.

AR MEAR—SITEN LERSMEO |, BEMEIZTEN IR ENES
R&B— PCle 3.0 x4 i,

BETENARATZNERNAFEAEZOFHMEM T (NREBRIE) 28
HHEBEE.

Rt BN TR m R L.

ZH



WL

E 2% RHEN

1.

WRBY AR ST R IRER.

BRER: ERE DR ERRESFIETIHIEEE.
EWARERE RN ZEZSRTEENAETE THE.

2. FTEVIBTEBRIE S o
3. EAFZHREIRE (M2.5x6) ¥ C OZ&EZMEM L.

BB BEAENAILRAT e SRR R
EPAT T 0, BHEEAENREABT 15 mm.

4. 5 C OFKZRBIEN Lo

20

RUEBHBRASG, flIBIE RN R RS (M4X12) BRMERRE
EEENL L.



Wt
A

i

£ 3% AiEYHE

TR HEVLRIE PoCXP fte, SAMBEIR (AUX IR ) B I/O E#xait
o

NREE B CoaXPress # A1 |/O B AN, N{LER I/O =
R RIR.

1. N8R EE AE PoCXP:

¥ CoaXPress &M HI—imiE ANHBHLHT Micro-BNC (HD-BNC) &E#gs, SR/5HE
CoaXPress Z&# R %S — i N Z O+ Micro-BNC ZE#2 .

2. MEERIMBEIR:

a. 1 CoaXPress & HI—mmimE NFELEI Micro-BNC (HD-BNC) &35
SR CoaxXPress & HI % —imfl A3 RAY Micro-BNC S H.

b. KR I/O LM RIECERZBIEYIA M8 6 5| HIERZRR.

21

ZH



WL

BTS2 B

@@ ; : 24 \/Di AEEME%\?JI?RQ\
e SRiRa /O B )i
@ 3 SkABE 1/O LRkt
L 4 — A 1/O (GPIO) £k
/O R 5 —/E A% 1/0 (GPIO) 4%
M8 63IH) ¢ TAHLARR] GPIO Zirs it

c. WK 1/O LA RITT w2 Bk,
d. e IR N\ R IRAEE -
3. BitENENERERREE, REF.
BRAR LED MSFENAEHIER, BSHN TMIEFH) Basler =iy

docs.baslerweb.com

22



RELBHE—KER
REENFE—KER
RIR =1
n BEREA EARET EDTEANEGZESR.

B BNREFN S ZEMNTERERS 2—: Windows 7 8 Windows 10
(32 fusf 64 £ ) 5% Linux (64 i)

n BOEIN EREEAT pylon Camera Software Suite (6.1 AT E S ).

iR TREEAT pylon Camera Software Suite B, 15H{RIEHF
CXP Camera Support I&E. X4 %2346 F Basler boost CXP-12 HHHFr &
BT EIE TR IRshFE R AitE = T A

{E A pylon Viewer REE 1
1. WiE=E LR pylon Viewer Elfx.

ZEBFTFF pylon Viewer,

2. EIREEETNEEAEN 2T AN ER.

3. T EBE=RBEHEEY > EH.
BN EERE TERGE R,
BxROMAEEEGRENRRERNNESER ., BS R TWiGHA Basler

FEERSIRS . docs.baslerweb.com

23

ZH



RELBHE—KER

A B Al PUET pylon Camera Software Suite #FH9& T T BB
8] Basler P2 @31 o

¥£ pylon Viewer &, B PIREERAMUNBEA IR . IFEEX
SHNEZER, FEH—F THENENES, H5ERESTEEER
AT RO E H42 F1 TS, sih 52 8t R R 3R BUES Bl

24



Hit&

Hitg

S

I T T

DR (HxV BE) 4096 x 2168 4096 x 3000
o e Sony IMX255 Sony IMX253
ERSE KR

femitcdl CMOS. 2/Bl#1]

MER T 1" 11"

BRIERER

5@‘%%% 161 mm 17.6 mm

BERST 3.45 x 3.45 um

niyeR R 93 fps 68 fps

E =) =)

Bk BITRE R« BT R R A S B HIETT

HEER )Y CoaXPress 8 24 VDC #H
= 9.6 W (typical) @ 24 VDC

. TANFEEBIBEE 1/O MNLRE
4

/O &5 2 M8 i 1/O(GPIO) 4

R=F (LxWxH) 45 mm x 80 mm x 80 mm

Eos 480 g

Bkl CE ( 8% RoHS). FCC. UL (in preparation).

GenlCam. CoaXPress 2.0. P30

25

ZH



O+
[ oemmeece
O PCle Gen 3 x4
ThEe (HE) 3260 MB/s
WEATEF 1 GB DDR4-RAM
HEEO 1x CXP-12(Micro-BNC)
. PCle 6 5| IESR 12 V
FRREK (POCXP £E
SNEDLEBEMANLI, 82 NEDHBIBEE ALK 2K
I/O #ig (ZDHEX) S AN
24 TTL M4k
. . 4 ANEDHEIRE /O ML
é \ g I
I/O £i% (BIRiEL) DA TTL e
PCle /Nl
(L
T (LxV) (68.9 mm x 167.65 mm)

26



B&

1 4 . 28
TOOSTEIT DT 28
BEGEEL 28
FTOMDT I )=V T NI T 29

YAl Sy A ) T 7 G L | 30
OAVR— 2 NOBIEE 30
B RGE 31
ATV TN A VBE—=Tx—AA—ROBUSI T .. 31
ATW T2 AATOEUTT 32
ATV T3 AATODEIBIZA 33

e[l 1k 35
B R RE 35
pylon Viewer ZER LTCEURENUIAFA ... 35

o 2 37
DA TR 37
AVR—=TT—AA— R 38

27

JA



iELoic
i CoIT

ZDNEICDONVT

ZDNETIE. Basler boost CXP-12 7 X= & Basler CXP-12 Interface Card 1C
L T4 2= 1—RH—F] EMFUET) ORI AEICDWNTERR
LEd,

Lfe. AT EAVE=T 1 =R H— FZERE L (ERIOEGREZZ1T D FIED
AL TWE T,

J— b : TOXETIE. Basler 5. D% Basler boost CXP-12 7 XS,
Basler CXP-12 4 2 —7 1 —AH— K. 77— 7))V OSHIERE EBEICnE
TZOMDT 7T —DBEYFIFICDWNTDHEHELE T,

efele BBHROABLTVWE T L—LTZN\=P7 78 —% FERAV
K TEHTEET, TDHFE, MIET A —H—DXEZE TBRD S A\
BYNCH ST TLEEL,

BEELGER

N RO I T7EFBTHHIC. AOXEDFIERTHERZLIBRAELT C—H< 2
TN

m Basler boost Getting Started Guide (AW001552)

m Basler CXP-12 Interface Card 1C Getting Started Guide (AWO0O01558)

28



lEC&lc

Basler boost CXP-12 5 %5 & Basler CXP-12 A 2 — 7 T — A H— RDIRIERE
[ZDWTlE. docs.baslerweb.com (77 AD D X Basler @D 1—H—<
Z a7 ETBEETL,

ZOMDOT o)=LV T b T

Basler |&. Basler boost CXP-12 A AT %9 ICTERWEEIF A K5 LD T
) —HRELTVET,

m CoaXPress 2.0 7—42 4 —7 )l Micro-BNCx2 (HD-BNC). 5m
m BRI/OT—TILM86EY/F =T 5m

B E—hYYT X20 BT RIE 2R (M4AX12)

B CRUV M BYFFRY 4K (M2.5x6)

INSORBIFERICEEAT S &, Basler CXP-12 Starter Kit boost D7 v
MTHEIAPEDLEB T EEHTEES, Ficld. Basler CXP-12 Evaluation Kit
boost KEEAT AT LETEEXT, ThITlE. BAT A VEZ—T 1 —AH— K.
PRUOLELREIRTO7 75 —HEENTVET,

SHMIC DU TIE. www.baslerweb.com/boost & TEBB 2 &L,

pylon Camera Software Suite (/\—> 3 V61U ) X AT EAVEZ—T 1 —
AH— FFD SDK Z1R=## LE 9, pylon Camera Software Suite DX > HO—
Nl&ZB5 D www.baslerweb.com/pylon

29

JA



IN—=RTT7DAVA =)L
N—=FI9x7DAL VA=V
AVEKR—ZY FOBE

PCleEBRIRT 2 —
6E>)

D-Sub Micro-DI% % % — (15E>)
Micro-BNC

§ i =EVEE
cRuvb &
L% 4 X M2.5x6 At N
Andndelse __
I“”HJH"""‘HI"" ATF—HR
!!!Eﬁﬁ??#?@ﬂﬁw I(_;ZXPress

[l %4 /0%y 2—
(M8 BEY)

H3:N=FOLT7DA VA=) - DVR—2 2 ~OBE

30



N=RTITT7DAVA =)V

I 363

ARAMIVE2—2—DAAVR—RITIEZ 1 DUED PCle 3.0 x4 XAOw bA
WETT,

Power over CoaXPress (PoCXP) AR T 5HBElx. AJE1—2— CDEE})?
L%X®6t/POe%ﬁ3177 bﬁu?uég&%%aLT<t
TONTWEWEEIL. BYET ’?7”5’ —EHBELTLEE

PoCXP Z{ER L TWLWEWEEIE. ASERHNNETT,

CUVMLYXEL F%@{J@@/ TV =LV T T TT ICR#HINTY
BT 7T —DFicdH B LEMRLTILEL,

ATYv 71 AV 2—T 21— H— FORIF

1.

RARAVE2—2—DT vy bEOVEN BRAVEY MhLHEHNTL
BT LR LET,

2. O3 —F2—0DOH/N\—ERIUNLET,
3. AVA—T1—AH—FEIVE1—2—DZELVNTW3S PCle 3.0 x4 X0 b

IcE LIAHKE T,

 AVB=T I =AN= FEN L THAZICERZMRG (POCXP) T 21551,

AVBE=TI—AN—RICAVE1—2—DERAERT 20ELH ) T T,
AV 13— —DARBERAR VA~ A VA2 —T 1 —XAH— bwgﬁjz
72— (PCle6 EVHICELIARET, BEVNDIVE1—2—IBET HE
BART Z—HEWNEEE. BYGT7 2T 2—5FERLET,

31

JA



IN—=RTT7DAVA =)L

/J—=PFIRALCOVE1—Z—TCEHDA >V Z—T 1 —AH— R&FERT 55
BlE. FOOAELI—2—DAAVR—RDAH— KT &EITPCle 3.0 x4 X
Oy N1 DHhBTEEERLED,

A1 —2—NDOBYRZESAY AT LEFRL. A2 —T71—XAH—F
PRIDA—F ERLTVSEHEE) OEICTHBEREZEERLE T,

5. A a1—32—0D7—RETICRLE T,

ATv T 2 AAS ORI
1. AASHEREHLSSUMEINTWAE T EEEELET,

BHISE
BROBIR 2T —ICRETBE. HASOMREMETT BT & BB
£,

ROFBEFIBTIE. AATHTFTEANTWVWE T EEERLET,
2. AAZE@EHLSY—)ILEIEFHNLET,
3. 4AKROBUFIFRY (M25x6) ZER LT, CXTY MEAATITRISIFET,

32



N=RTITT7DAVA =)V

BHS5E

BIRDRER : L RAZEAASIHEALTED L. VYD EBRETEHIEND
[1) 353_0

ROFNEZERITI 5FEE. L X% 15 mm UEREALGWTLZEWD

4. CR IV MLV AEAASICTEIMITET,
5. [MBOBUSIF XY (MAx12) BEARALT. AAZIC2 DDE— M T EEIT

TBHTET, TOEERRLEY,

ATYvT3: AASOERIBA

1.

/= bk I AATIE PoCXPEH. KIFNERER (AUX EIR) ZEAL TV
0 IRV R2—RHATHECELT,

CoaXPress A A —TJ1—RX & /O DRI Z—DWATHASIHET 515
B 1/0 DX Z2—D MG NAENDIMEBENE T,

PoCXP Z{ER L TW\515E -

CoaXPress 77— 7 JLD—1%& 13 A5 D Micro-BNC (HD-BNC) X7 X2 —
#= LA+ CoaXPress 7—JILD&ES—ImAEA V2 —T T —IAH— KD
Micro-BNC OV 2 —|CZ LIAHF T,

33

JA



IN—=RTT7DAVA =)L

2. NPERZFEABLTVDIHE !

a. CoaXPress 77— 7 )LD—ig% 7 A S D Micro-BNC (HD-BNC) x4 2 —
[T LiAdA, CoaXPress 7—JILDES—ImAE A2 —T 1 —X
73— R®D Micro-BNC R— MCELAFHE T,

b. BRI/OT—TIVDTZT7HAAZDME 6 E>AXTZ2—ICEFELET,
RO VBEICHES TLTEEL,

- 1 24 VDC HAZEBIR
@ @ 2 1 T+ NATZ1/OATIZ A2
26 o
@ 3 T+ AT I/OSA VRISV R
HASD 4 SRA /0 (GPIO) 51 >
1/O 3?\/70&— 5 SAA /0 (GPIO) 54>
M8 6 EZ) 6 HAASERE GPIO A VAS SV R

c. BRI/OT—TILDFNSEIEERICERLET,

d BRZOtY MIELA#KET,

3. AvE1—42—A2BRICBEEGLT. OvE1—42—%E8L %7,
=X

>/
TEETEELED DREE TS T HEICDWVTIE DT T THA ~MCT
Basler D1 —H—< =27 )bA BB EEL, docs.baslerweb.com

34



EHIDERDIEE
RTDERDIRE:
AR
B IN\N—=RT7x7DA VA N=)V] OBOFHRBITREST. IN—RT727DA VA
F—ILFIBETT LT,
B ROANL—FT 4 VIV RATLADVWINHODNRA NIV E2—2—TA VR
F—JLENTWLS  Windows 7 £z 10 32 B bETzld 64 £ )
F il Linux (64 B k),

B RX O E1—42—I[C pylon Camera Software Suite (/\— 3> 6.1 E)
DA VA=V ENT WS,

/—F : pylon Camera Software Suite - > A b— /L3 Z1EE1&.
CXP Camera Support #eEA1EIR L T 2T L, TniT kY. Basler
boost CXP-12 A AT DEIEICIABIRITNTDI VRZALY T NIT T,
RSAN— BLUOBEETZIV I I T7YV—IbDBA VA R—ILENET,

pylon Viewer %Z{#H L fzE{&E V) iAd*
1. TR hv 7D pylon Viewer 7 A A HERZTILI ) w2 LET,
pylon Viewer B BEE T,

2. [TINARI DAY RUTAAZDREZEZTIVG )W LT HAZEHERL
N
3. AZa=N\=TC [ AT > [ERRR I DIBICY Uy 7 LET,

35

JA



EVIDERDER

36

HAZTlRE LEBRIFERETRT ) 7 IcRRENE T,

BEZHEELLTHATERET BHEDFEMCDOWLNTIL Basler D I1—
Y=< Z a7 )ETESEIZEL, docs.baslerweb.com

J—F  Ffe. TEEEE pylon Camera Software Suite DY — U5
Basler @D 11— —< Z a7 JVICEE T VAT B EETEELT,

pylon Viewer Tld. WRITISCTeNIVTHZ BB TEELT, /NS A—2—
DM, FlEBFECDHATETIVOFERICDOWVTIE. [TFINM R
TelE [#8e] 7« > FOTENDOERZERLTFF—%Z2#dH. [N
TEBRBIEGV ) v LGERL, RF2 XAV MNEREET,



A%

1%
H A
I BT T
BEH (E < HH) 4096 x 2168 4096 x 3000
< Sony IMX255 Sony IMX253
i) CMOS. Global Shutter
AA=TIHFAX 14 >2F NA>F
't —
e E 16.1 mm 17.6 mm
oA X 3.45 x 3.45 um
JL—LL—Fb 93 fps 68 fps
t/00/ 75— t/00/ 75—
= N=Roz7 b IA— VI bTTT MIAH—
’ FrelE7 ) —Z & 1RHE
EE Power over CoaXPress £71zld 24 VDC
= 9.6 W (typical) @ 24 VDC
- . T+ AT ANTA T X
oz SAAAHTT (GPIO) 51 > x2
EPS

(RE x@x3E)

45 mm x 80 mm x 80 mm

B8

480 g

HEYUATAE

CE (RoHS #&d5 ). FCC. UL (in preparation).
GenlCam. CoaXPress 2.0, IP30

37

JA



A%

A3 =T 1—RAH— Ptk

_ CXP-12 Interface Card 1C

RARAZZ— PCle Gen 3 x4
J11—RA
S (fEt) 3260 MB/ #
AUR—RAEY — 1 GB DDR4-RAM
giz;\\/’;_ 1x CXP-12 (Micro-BNC)
B PCle6 E>aR72—12V
= (POCXP |T@A78 )
SEDEF A MO TIANTA . Flald 2 KDES T + b
/O =4~ BDITSAINZAVESLOCTERKDY VTV RET+ cATS
(EFE—NR) AHSA Y

TTLHAAZ A > x2

AEAZ1Y v
JIVTY RE—R)

EEFTA MHTTATITA x4
TILHEAZA > x2

TR (BE xHD

PCleO—70O07 74 )bAH— R
(68.9 mm x 167.65 mm)

E

fein

180 g

38



For further information and documents about
Basler’s performance portfolio, please visit:

www.baslerweb.com/boost



performance



	Introduction
	About this Document
	Important Documentation
	Additional Accessories and Software

	Hardware Installation
	Overview of the Components
	Prerequisites
	Step 1: Installing the Interface Card
	Step 2: Installing the Camera
	Step 3: Providing Camera Power

	Acquiring Your First Images
	Prerequisites
	Acquiring Images Using the pylon Viewer

	Specifications
	Camera Specifications
	Interface Card Specifications

	简介
	关于本文档
	重要文档
	其他配件和软件

	硬件安装
	组件概述
	前提条件
	第1步：安装接口卡
	第2步：安装相机
	第3步：为相机供电

	采集您的第一张图像
	前提条件
	使用 pylon Viewer 采集图像

	规格
	相机规格
	接口卡规格

	はじめに
	この文書について
	重要な資料
	その他のアクセサリーとソフトウェア

	ハードウェアのインストール
	コンポーネントの概要
	前提条件
	ステップ1：インターフェースカードの取付け
	ステップ2：カメラの取付け
	ステップ3：カメラの電源投入

	最初の画像の撮影
	前提条件
	pylon Viewerを使用した画像取り込み

	仕様
	カメラ仕様
	インターフェースカード仕様


